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Our description of the adjoint involution adh0 in §1 should be cor-
rected as follows:

adh0
(X) = S−1X

t
S, ∀X ∈Mn(D).

Consequently, S should be replaced by S−1 and vice versa every-
where in §2.

The proof of [1, Prop. 3.1] contains an error: the matrices eii are
not defined for all values of i when k > n. We are very grateful to
Bhanumati Dasgupta for pointing this out to us and for contributing
to a correct proof which is presented below.

Proposition 3.1. There exists an ε-hermitian k × k-matrix B ∈
Mk(D) such that

h(x, y) = xtBy, ∀x, y ∈ Dk×n. (1)

Proof. Let B = (bij). We will determine the entries bij . Let eij ∈
Dk×n, e′ij ∈ Dn×k and Eij ∈ Mn(D) respectively denote the k × n-
matrix, the n×k-matrix and the n×n-matrix with 1 in the (i, j)-th
position and zeroes everywhere else. One can easily verify that

eifEf` = ei`, (2)

for all 1 ≤ i ≤ k and all 1 ≤ f, ` ≤ n. Also note that if C ∈Mn(D),
then computing the product EijC picks the j-th row of C and puts
it in row i while making all other entries zero. Similarly, computing
the product CEij picks the i-th column of C and puts it in column j
while making all other entries zero. The matrices eij and e′ij behave
in a similar fashion.

The matrices {eij | 1 ≤ i ≤ k, 1 ≤ j ≤ n} generate Dk×n as a
right Mn(D)-module. Thus it suffices to compute h(eif , ejg) for all
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1 ≤ i, j ≤ k and all 1 ≤ f, g ≤ n. Using (2) we have for arbitrary
1 ≤ `, r ≤ n that

h(eif , ejg) = h(ei`E`f , ejrErg)

= Ef`h(ei`, ejr)Erg

=
(
h(ei`, ejr)

)
`r
Efg,

where
(
h(ei`, ejr)

)
`r

denotes the (`, r)-th entry of the n × n matrix

h(ei`, ejr). It follows that
(
h(ei`, ejr)

)
`r

is independent of the choice
of ` and r. For all 1 ≤ i, j ≤ k we define

bij :=
(
h(ei`, ejr)

)
`r
.

Thus h(eif , ejg) = bijEfg for all 1 ≤ i, j ≤ k and all 1 ≤ f, g ≤ n.
We also have

eif
tBejg = e′fiBejg = bijEfg

for all 1 ≤ i, j ≤ k and all 1 ≤ f, g ≤ n. Therefore,

h(eif , ejg) = eif
tBejg

for all 1 ≤ i, j ≤ k and all 1 ≤ f, g ≤ n, which establishes (1).
Finally,

bjiEgf = h(ejg, eif ) = εh(eif , ejg)
t

= εbij Efg
t

= εbijEgf ,

for all 1 ≤ i, j ≤ k and all 1 ≤ f, g ≤ n, which implies bji = εbij , for

all 1 ≤ i, j ≤ k. In other words, bji = εbij , for 1 ≤ i, j ≤ k, so that

B
t

= εB, which finishes the proof.
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